Yeoar 10 - Advanced Maths

1) _
Which triangles are similar? Give reasons.
a. b. ¢
v 11 [o]
70° 0
435°
d. e. ‘ f. :’ ‘
«—> a, ¢ and ¢ are similar; b and f are similar »
2) Which triangles are similar? Give reasons.
a. 4 b. c. q
20° )
d. e. f. N
60° 66)
‘@‘ 60° 60° AN
«-> ¢ and ¢ are similar; a, b, and f are similar »
3) Which triangles are similar? Give reasons.
a. b. ¢
2em 242em V\g\/}mn -5 om i E\E cm
3 om 3& cm 2¢cm
d. €. f.
\/5 cm 2
2J2em 3cm em 4 cm 32em
342
4 cm B cm 42em
«—> a, b and ¢ are similar; ¢, d and fare similar »
4) Which triangles are similar? Give reasons.
a'Z cm 3 em 2em, 67° © 2cm
40°
4 cm 4 cm 4 om
d. o c. f
4 cm N cm 4 cm 6 cm
29° 29° N
8cm dcm 8 ¢m

«—> a and f are similar; d and e are similar, »
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3)
State why 4 ABC is similar to A ADE.

B

6) State why A ABC is similar to A AED.

A
"

2

A
55°
80° .
45°
C
A
D
E
0° 70°
C
A
D C

N

A
D
120°

6
B
7
State why A ABC is similar to 4 DEC.
B
8)
State why A ABC is similar to A BDC'.
B
10)

In the diagram given below, find the value of x.

C

(All lengths are in cm.)
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«— Equiangular triangles »

«— Equiangular triangles »

«—> Equiangular triangles »

«—> Equiangular triangles »

4
«r = Ecm »



Year 10 — Advanced Maths
1) In the diagram given below, find the value of x. (Al lengths are in cm.)

«—>x=8cm»

12)
4
«=>Xx = —Ccm»
b)
13)
20
> X =-_—cmy
3
14) In the diagram given below, find the value of x. (All lengths are in cm.)
b)
’ 4
X
«—>x=9cm»
15) In the diagram given below, find the value of x. (All lengths are in cm.}
«>x=6cm»
[rad OrQast]
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